A 31, deicmals, PP P 1Y AT BT HH

AMH: fie: R
I 1 177 147
5(-+=-)= —+—)+3=
(4 3 (10 10) 3
2 1
5--)x33= 4(-—-3.1)=
-3 (3D
2 203 357
—+4)+-2= — )7 =
44 (= 47
5 1 1
l+-)=5= S(=—32)=
(1+3) (c—3)
30+ L= (3+4)x27 =
2 2

www.snowmath.com



https://www.snowmath.com

A 31, deicmals, PP P 1Y AT BT HH

1 1. 35
5(=+-)=">
G371

2 143
5—Zyx33= -
(5=3)~ 10

(§+4)+2=—

5 7
1+2)+5=—_
1+3) 10

W: w:

177 147 54

10 10) 3

( 5

1
A3 =D)

203 357 7

TRy
I 1 5
(e =3)=0%)
189

3+4)x27 = —

www.snowmath.com



https://www.snowmath.com

